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2 48,941,300
J| 945,708
< 16,626,789
Al 27,921,183
ANBIZX SE(ASIZXI/AEI =X L) 94,197,942 94,786,390 588,448
= 48,819,158
J| 945,708
< 16,624,975
Al 27,808, 101
Lo=sX &4 50,893,285 52,483,354 A 1,590,069
= 33,837,287
J| 15,646
< 3,165,252
Al 13,875,100
Lol=R K& 225,900 151,500 74,400
201 et 57,500 52,500 5,000
01 At 2teltl 21,000 19,000 2,000
OB+t 14,000, 000& 14,000
o=l 5,000,000& 5,000
ooHolg ¥ oo 4 EES ME
2,000,000& 2,000
02 2324l 1,500 1,500 0
o0z22= & HMA 1,500,000 1,500
03 A2 Z Hl 35,000 32,000 3,000
OoHold A XA 30,000,000& 30,000
O&EIIRIZ SALA &t0ts ALK
5,000,000& 5,000
202 044l 30,000 30,000 0
01 = LH o4 1l 30,000 30,000 0
OAMsI =X &2 =& 30,000,000& 30,000
203 ¥ S =&l 4,000 4,000 0
03 AIHF=XH R =AH| 4,000 4,000 0
OFAANE g2 =& 1,000,000& 1,000
oOWdHH gdat g% =4 1,000,000& 1,000
oEs g8 =& 1,000, 000& 1,000
OFAYE SEMY FF =4 1,000,000& 1,000
301 et a3z 12,000 13,000 A 1,000
09 &AL HIZB &S 12,000 13,000 A 1,000
OLoMEUa (=) HItda A4
3,000,000& 3,000
OLQ HOIEES(EY - )3 EFAX AHE
& 4,000,000& 4,000
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
OLolgtel gtetsl HAX Ad2a
3,000,000 3,000
OLQ=XEM MNOILE AKX 2HE4
2,000,000& 2,000
307 gl2tol & 122,400 52,000 70,400
03 BIAHNHE2IHIEL 33,000 20,000 13,000
Oust-olsl AMEAIXIE 29H XA
33,000,000& 33,000
11T M SRASE EX 89,400 0 89,400
OZ32Y & usH XA 8,400,000& 8,400
OMHEA Hzdl S0tE M=sUsE X
25,000,000& 25,000
oodoleg g2 X& 16,000, 000& 16,000
oLelo & XA 40,000,000& 40,000
COIAHETNE XA 237,981 443,434 A 205,453
< 88,466
Al 149,515
301 et d = 177,366 157,640 19,726
< 68,030
Al 109,336
01 MEIBEZE 05z 177,366 157,640 19,726
O22 A= (24 tM X ZO0IALS
108,626,000 108,626
< 43,450
Al 65,176
ool JHEAHH X 54,000,000& 54,000
< 16,200
Al 37,800
okogsE2xI| A& 10,040,000 10,040
< 5,000
Al 5,040
OE2A= 028 HdZIIXH 2,500,000& 2,500
< 2,500
OLQPC= 2,200,000& 2,200
< 880
Al 1,320
307 glz2+ol & 60,615 285,794 AN225,179
< 20,436
Al 40,179
11T MISXASEEX 60,615 285,794 A225,179
ORsZ2AY (L ,50Y) 46,715,000 46,715
< 18,686
Al 28,029
onzssd 24 2,400,000 2,400
< 600
Al 1,800
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11T A EXAIEEX 236,120 0 236, 120
o2z dzAae"g XA 170,000,000 170,000
OLQl 2Hel Ot AFY X 12,000,000& 12,000
OAAF BHEY AHIA XIS 54,120,000 54,120
24 B3I XA 30,000 30,000 0
301 et A= 30,000 30,000 0
01 M EXE 4562 30,000 30,000 0]
OXMASE 2 BEFHI| AlsXgd
30,000,000 30,000
EZANE HEYN S SMHEIAE X 15,000 24,300 A9,300
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401 AlEHIZL 2 0HY| 15,000 15,000 0
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01 Al& H| 15,000 15,000 0
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301 et A= 2,700 0 2,700
01 M EXE 4562 2,700 0 2,700
OEZAN= HEA ZESMEDIIE 29
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= 852,618
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Al 341,045
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11T A EXAIEEX 10,000 10,000 0
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Al 2,614,674
01 Al E& A %52 3,035,788 3,035,788 0
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= 285,734
Al 1,395,054
OMII==R SYXV(AFI QY2 &
=g=_ 1,355,000,000& 1,355,000
= 135,500
Al 1,219,500
11 JIEtE A2 240 0 240
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Al 413,094
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= 15,766
Al 141,894
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Al 190,025
403 XX SHS K20 & 904,881 845,577 59,304
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Al 15,120

OlSESHIXNE(SR2IHE) 273,380 273,380
J| 218,700
< 27,340
Al 27,340

301 et a3z 273,380 273,380
J| 218,700
< 27,340
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ONE=EXAE X (HAESED) 300,000 300
= 240
= 18
Al 42
NaAsE 2 - 22X X 59,600 59,600 0
301 et A= 59,600 59,600 0
01 Al B & X 262 59,600 59,600 0
ODnssW N weEd XN (s - ot=4l)
22,000,000 22,000
OMAS B2 - 22X X 19,600
oFZsM ItH Euibl K&
30,000 x160HH *22 J| 9,600
o NNWMIE wUAMHl X& 50,000&«200H 10,000
OStEER2IIE =2 AFY X& 18,000,000 18,000
0HOI S 2 0I X 2 442,301 455,681 ~13,380
= 353,841
= 26,538
Al 61,922
307 212t0| & 162,301 0 162,301
= 129,841
= 9,738
Al 22,722
1 AFSIE XA E X 162,301 0 162,301
©OO0I0lE 20| XY (2d9H]|) 162,301,000 162,301
= 129,841
< 9,738
Al 22,722
308 XHXIEH SO0l & 280,000 0 280,000
= 224,000
< 16,800
Al 39,200
10 2| 2SHUSHE A X HE A 280,000 0 280,000
©O0I0lES 20l XIS (AFSH]) 280,000,000& 280,000
= 224,000
= 16,800
Al 39,200
olol==20l 43t X 5,000 5,000 0
307 212t0| & 5,000 5,000 0
A EXAEEX 5,000 5,000 0
OO0l S0l AFASDSE S X &
5,000,000 5,000
HECH &4d3 A& 50,100 41,100 9,000




SH: AS =X D
B A=K ST (A ST /AS= X L)
S YHBS AEEY

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
201 ¢er24| 9,600 9,600 0
01 At 22l 9,600 9,600 0
O el 6,000,000& 6,000
oz2g+g 3,600
oZ3J& ZHHY S ug S FA+E
3,600,000 3,600
301 et A3z 11,500 12,500 A 1,000
09 EAEHIE &S 11,500 12,500 A 1,000
OWEHNENE & A3 FAX Adl24 6,500
oEed W= 4,000,000& 4,000
ok W= 2,500,000& 2,500
OWgLEtn=s A 24 2,000,000 2,000
OAxAAE T B0tE =M FAX AH2d
2,000,000& 2,000
ONAHCIS & A A AHIE4
1,000,000& 1,000
307 21201 A 29,000 19,000 10,000
11T MISAASEX 29,000 19,000 10,000
OMBOWAS HM5I Sotstn XN
5,000,000& 5,000
OUSHMNAMMEXRE S BREDIIZH =+
el XN 5,000,000& 5,000
Od=g & HOHH &S &= & oges A
2 2,000,000& 2,000
ootsxzoltt sk 5,000,000& 5,000
oOMas gs2eEs NE 10,000, 000& 10,000
OJNE=EH Hgas X 2,000,000& 2,000
A5 2RIHE X2 2,500 2,500 0
307 glz2tol & 2,500 2,500 0
11T MIZSXASEEX 2,500 0 2,500
OHAS S22 (XY B=ls NRAY
2,500,000& 2,500
HEXNEX ASL3AS 20,000 20,000 0
307 glz2tol & 20,000 20,000 0
11T M SRAISE EX 20,000 0 20,000
OWAEXIEA F&23AtY XI& 20,000,000 20,000
LHESF=2LI ALY 5,500 5,500 0
< 2,200
Al 3,300
307 glz2+ol & 5,500 5,500 0
= 2,200
Al 3,300




AN ALEI =X
H: A EX ST(ASEX/AE S X L B

-

)

Sol AHHS AIEH EERED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
11T M SRASE EX 5,500 0 5,500
oxLES=2 gAY KA 5,500,000& 5,500
= 2,200
Al 3,300
LYHBESF2AIEAY 15,000 15,000 0
307 glz2+ol & 15,000 15,000 0
11T MISRASER 15,000 0 15,000
odddsS==2 JIEgAE XA 15,000, 000& 15,000
HEJIsxzHSLENE 10,000 6,000 4,000
301 et A=z 10,000 6,000 4,000
1MIIEELSS 10,000 6,000 4,000
OUHAIIsHSE s ZAE 10,000, 000& 10,000
Odeg2dd 800,000 200,000 600,000
401 Al HI K 201 I 800,000 200,000 600,000
01 A& HI 800,000 200,000 600,000
on4dslz Ag 800,000,000& 800,000
Ct2sthots X3 64,760 72,760 A 8,000
201 Let2dE] 1,000 1,000 0
01 At 22l 1,000 1,000 0
O el 1,000,000 1,000
301 e A= 15,000 10,000 5,000
01 AR 2Z A5 3 15,000 10,000 5,000
OtU=zIIE Mass UHAFAS € U=
15,000, 000& 15,000
307 21201 A 48,760 31,760 17,000
11T MISXASEX 48,760 11,760 37,000
OLZWSXNEA HE A==  2,600,000& 2,600
OLYZWEXNEZ AL nSHI 4,160,000& 4,160
OU=sIE AXENUs & H=SEH0E A
A& 7,000,000& 7,000
OU=aIE IUH JIx=ssie MsSIHENH
15,000, 000& 15,000
OHMAHCIS & J18AY K& 20,000,000& 20,000
Ch2stEXJAHH 29 130,046 243,204 A 113,158
J| 65,023
< 19,507
Al 45,516
307 21201 A 130,046 243,204 A 113,158
J| 65,023
= 19,507
Al 45,516




AN ALEI =X
H: A EX ST(ASEX/AE S X L B

-

)

Sl FHTS XY (ol @)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
05 RIZHRI & 3 130,046 243,204 A 113,158
OU=RSIIENJAEH 29 130,046, 000& 130,046
J| 65,023
< 19,507
Al 45,516
s @ THTHME 5 2RuUsMH A X2 117,150 0 117,150
J| 82,005
< 10,544
Al 24,601
307 21201 A 117,150 0 117,150
J| 82,005
< 10,544
Al 24,601
11T M3 SRASEEX 117,150 0 117,150
otzsis &2u=s XA 117,150, 000& 117,150
Jl 82,005
< 10,544
Al 24,601
O23ts U doge X 29,456 29,456 0
J| 20,619
< 2,651
Al 6,186
307 gl2tol & 29,456 29,456 0
J| 20,619
< 2,651
Al 6,186
11T M SXASE EX 29,456 29,456 0
OUZaIEXNE HdHEERA 29,456,000 29,456
J| 20,619
< 2,651
Al 6,186
ZE0I8X S -89 HAHlA X& 17,232 17,232 0
J| 12,063
< 1,550
Al 3,619
307 21201 A 17,232 17,232 0
J| 12,063
< 1,550
Al 3,619
11T MISRASER 17,232 17,232 0
OZ=012X SHIAAMHIA XA 17,232,000& 17,232
J| 12,063
< 1,550
Al 3,619
oo #3x4d 16,636 16,643 AT
J| 11,646
< 1,497




2N
X ZH -
L= B

el

Akl = X1 ot

ABIZEX BE (A =X/ ALS] = X B

-

)

dHEBES MM

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HDE
Al 3,493
307 2iz2to| A 16,636 16,643 NT
J| 11,646
= 1,497
Al 3,493
11T AISIEXAIEEX 16,636 16,643 NT
OO0z SHXH 16,636,000& 16,636
J| 11,646
& 1,497
Al 3,493
=20us 29 22,162 22,162 0
J| 15,514
= 1,994
Al 4,654
307 QI2t0| ™ 22,162 22,162 0
J| 15,514
= 1,994
Al 4,654
11 A EXAIEEX 22,162 22,162 0
ost=0ns 29 22,162,000 22,162
J| 15,514
& 1,994
Al 4,654
HAEZ2E20|QUNHEEHESZ 5,000 5,000 0
== 1,500
Al 3,500
307 2Iz2to| & 5,000 5,000 0
== 1,500
Al 3,500
11T A EXAIEE X 5,000 5,000 0
OWAMEZEEOQIQX AEAHES 5,000,000& 5,000
= 1,500
Al 3,500
HAEZE0|2X U2 IIEXNJHEH CEMS 12,000 12,000 0
& 3,600
Al 8,400
307 giztol A 12,000 12,000 0
& 3,600
Al 8,400
11T A EXAIEEX 12,000 12,000 0
OWAEZE=0IC2X UESSIISANIANE QEHNE
12,000,000 12,000
& 3,600
Al 8,400
ChESIIEHE EAMXS 20,000 20,000 0
& 10,000
Al 10,000




SN ALSI S X
Y A EX SE(ASSX/AIE S XL e
Sl YHBES AEIZH
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
307 glz2tol & 20,000 20,000 0
< 10,000
Al 10,000
11T M SXASE EX 20,000 20,000
OUSHINENAME SHAUT &
20,000,000& 20,000
< 10,000
Al 10,000
HAZS0I2 R AN A+ 12,600 12,600
< 3,780
Al 8,820
301 gt d= 12,600 12,600
< 3,780
Al 8,820
1MIIEBESS 12,600 12,600
OWLEZE0I2UR AU 2A==E
12,600, 000& 12,600
< 3,780
Al 8,820
ChE} NSRS HEH SAL =& 10,400 10,400
< 5,200
Al 5,200
307 21201 A 10,400 10,400
< 5,200
Al 5,200
11T ALS S XAEE = 10,400 10,400
ONAEZSY 9,600,000& 9,600
< 4,800
Al 4,800
O¥EAH 800,000 800
< 400
Al 400
AEINE 243 X 11,000 11,000
< 3,300
Al 7,700
307 21201 A 11,000 11,000
< 3,300
Al 7,700
11 A S XA E = 11,000 11,000
OHZIE 43 XA 11,000, 000& 11,000
< 3,300
Al 7,700
HEESAE 48429 NE 50,000 50,000
< 15,000
Al 35,000
307 glz2tol & 50,000 50,000
— 20 —




©OAEI = X
M MBI=X ST (AMSI =X /AE S X L6t
?: 2dES AEH

i =
SA-EY.B(BH) - PN - BES e
=) 15,000
Al 35,000
10 A SAAEHE2SEHIEXR 50,000 50,000
oglztags 24 50,000,000& 50,000
< 15,000
Al 35,000
SOH0H - =" 22X E 8,000 8,000
< 2,400
Al 5,600
307 glztol & 8,000 8,000
= 2,400
Al 5,600
A2 S XIALE 2 & 8,000 8,000
OHOHNH - Hd == 2EXE 8,000,000 8,000
& 2,400
Al 5,600
d4=Z3 JiolAt wEXN=Z208 29 25,400 25,400
Jl 17,780
& 3,810
Al 3,810
307 21201 & 25,400 25,400
Jl 17,780
< 3,810
Al 3,810
ARSI S XA E X 25,400 25,400
O&Z2 Dtk RFNEZZIY 29
25,400,000& 25,400
Jl 17,780
=) 3,810
Al 3,810
HEZ BRAL SAL 29 15,600 15,600
= 7,800
Al 7,800
307 21201 & 15,600 15,600
< 7,800
Al 7,800
ARSI S XA E X 15,600 15,600
ONAHE=Y 14,400,000 14,400
S 7,200
Al 7,200
o¥EA¥ 1,200,000& 1,200
< 600
Al 600
OlsSHgaddXN AU =2S 7,240 7,240
= 3,620
< 1,810
Al 1,810




2N

X ZH
S =

Akl = X1 ot
CASI SR BT (AFSI S X/ ALE S X L B

S YHBS AEEY

-

)

SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2

307 2Iz2to| & 7,240 7,240 0
= 3,620
& 1,810
Al 1,810

11T AISIEXAIEEX 7,240 7,240 0
OOtsSHAEtAEXEA2H 7,240,000 7,240
= 3,620
= 1,810
Al 1,810

OISOHEXIETHME X 2,440 2,448 A8
= 1,220
Al 1,220

307 giztol A 2,440 2,448 A8
= 1,220
Al 1,220

11T A EXAIEEX 2,440 2,448 A8
OOSUHNMANEME X 2,440,000 2,440
= 1,220
Al 1,220

HEH JIEEd AL 29 I 73,688 71,700 1,988
J| 36,844
= 18,422
Al 18,422

307 212t0| ™ 73,688 71,700 1,988
J| 36,844
o 18,422
Al 18,422

10 M SXAEEHESIHEX 73,688 71,700 1,988
Od=ZdAYAL 29 I 73,688,000 73,688
J| 36,844
& 18,422
Al 18,422

SHAEZSMIoAF 2l =H|, 2t8dl K& 1,720 1,756 A 36
J| 1,204
& 516

301 Lt A= 1,720 1,756 A\ 36
J| 1,204
& 516

01 Al B & A 46 2 1,720 1,756 A\ 36
O4d== HolAF 2l SH| K& 1,720,000 1,720
Jl 1,204
o= 516

HAEZE 25 AME SMI B0 R 960 960 0
J| 480
Al 480

301 et A= 960 960 0

- 22 -




2N
X ZH -
L= B

el

Akl = X1 ot
ABIZEX BE (A =X/ ALS] = X B
dHEBES MM

-

)

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Jl 480
Al 480
09 &AL HIZ &S 960 960 0
Od=ZS o454 SAL U= 960,000& 960
J| 480
Al 480
IFIE=YIHA Xgsls 2208 2 o =dl X 11,171 11,171 0
J| 7,820
< 1,901
Al 1,450
301 et a3z 1,500 1,500 0
J| 1,050
< 450
01 AR 2Z A 53 1,500 1,500 0
ONEZZUoixt 2=l XA 1,500, 000& 1,500
J| 1,050
< 450
307 glz2tol & 9,671 9,671 0
Jl 6,770
< 1,451
Al 1,450
11T M SXASE EX 9,671 9,671 0
OJNXEF=ZHIHA XNzsl=s220d 29
9,671,000 9,671
J| 6,770
< 1,451
Al 1,450
Heagdas 2Z XS 20,000 20,000 0
307 gl2tol & 20,000 20,000 0
10 AL SXAIEEE2EH EX 20,000 20,000 0
ondags 29 K& 20,000,000& 20,000
ZSIIoi A 20N 29 A& 6,300 6,300 0
307 glz2+ol & 6,300 6,300 0
11T MISXASER 6,300 6,300 0
OZ4dIloi it 220dd 28 X
6,300,000 6,300
SMHIA &2 g4 34,356, 166 33,931,492 424,674
= 14,033,555
< 12,073,775
Al 8,248,836
EswH oA X 4,048,190 3,579,586 468,604
= 2,024,097
< 809,636
Al 1,214,457
307 glz2tol & 4,048,190 3,579,586 468,604

_23_




SA: AEIEX D
M A =X BX(AS=X/AS SN L
ool BSMHIA B gy

-

)

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M

2Hm
==
£l
Ol
0y

2,024,097
809,636
1,214,457

= Hn

10 Al =S XA E

=
@:_T‘_al . g

o s

F2IHEx 4,048,190 3,579,586 468,604
Oellls 2 2|

2,839,777,000& 2,839,777

1,419,889

567,955

851,933

= MW

945,373,000& 945,373
472,688
189,073
283,612
OEX WA 21| 263,040,000& 263,040
131,520
52,608
78,912

= Hn W

= M W

Heold EsnAFA YA 645,600 633,600 12,000
199,680
445,920

= M

307 glztol & 645,600 633,600 12,000

199,680
Al 445,920

H

=
ton

P
>
e
H
B

645,600 633,600 12,000
93,000,000& 93,000
27,900
Al 65,100

Ab X I & HI 522,600
oHEX& - 0IX& OH20lE 285,600,000 285,600
85,680
199,920
ocHEIIE QU0 E0lE 237,000,000& 237,000
71,100
Al 165,900

©
i
0o
£
il
o
Y
10
4
o

> in i

H

©
0
2
=)
Pa]
A
==
m
o
1]
O
=
pea}
Jm
4>
o I
0

,000,000& 30,000
15,000
15,000

= M

=)
o
o
ital
H0
02
paa
0

(WA w=2Hl) 46,700 50,760 A 4,060
23,350
9,340
14,010

=z N H

307 glztol & 46,700 50,760 A 4,060
23,350
9,340
14,010

= W

10 A SXAEHE2EHIEX 46,700 50,760 A 4,060

_24_




2N
DAEIEX ST (MEEX/AE 2R Y
A

el

X ZH
S =

Akl = X1 ot

-

)

ESAMHA 2 g4

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

O T{ W T H| 46,700,000

= N W

46,
23,

9,
14,

700
350
340
010

2
[
=
ipal
Fo
02
Pl
Y
=
o
A0
02
=

= MW

103
51
20
31

,382
,691
676
,015

102, 146

1,236

307 glztol &

= M W

103
51
20
31

,382
,691
676
,015

102, 146

1,236

10 M SXANEEE2SHES

Oxg=gHl 103,382,000&

= W

103

103,
51,
20,
31,

,382

382
691
676
015

102, 146

1,236

= W

4,
2,

1,

440
220
888
332

4,436

307 21201 &

= W

4,
2,

1,

440
220
888
332

4,436

1A SXAIE 2 =

ESWAHY EsNSH|

4,440,000

= W

4,
4,
2,

1,

440

440
220
888
332

4,436

= MW

,466
,103
, 745
617

,428
178
,300
,950

13,559,620

A1,093,192

= Hn

,466

,103
, 745
617

,428
178
,300
,950

13,559,620

A 1,093,192

12,466,428,000&

= H W

,466
,466

,466

,103
. 745

617

,428
,428
,428

178
,300
,950

13,559,620

A1,093,192

3

~5Ml =2l d

2l

8
1
2,
8
8

,056
,056

,200
,200

8,328,225

N272,025

301 gEtE A=

8,056,200

8,328,225

N272,025

_25_




2N
DAEIEX ST (MEEX/AE 2R Y
A

el

X ZH
S =

Akl = X1 ot

-

)

ESAMHA 2 g4

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

H

8,056,200

01 Al 2&H =062

O©3~5AM F2lutd 8,05

6,200,000&

Hn

8,056,200
8,056,200
8,056,200

8,328,225

N272,025

Al

7,000

4,900
2,100

14,682

AT,682

H

Al

7,000

4,900
2,100

14,682

AT,682

7,000,000

2l

Al

7,000
7,000

4,900
2,100

14,682

AT,682

= i

51,600

20,640
30,960

43,000

8,600

307 21201 &

H

Al

51,600
20,640
30,960

43,000

8,600

10 A SAAIEHIS2SHIEX

OBIZIOE0lE HEAZH 5

1,600,000

51,600

51,600

20,640
30,960

43,000

8,600

= Hn H

64,000
32,000
12,800
19,200

126,000

A62,000

= Hn W

64,000
32,000
12,800
19,200

126,000

A62,000

OO0E0IE JIsE2 A (ZHIHl)

0

OO0E0IE JIsEZ AL (HESH])
6

4,000,000

0,000,000&

= MW

= N H

64,000

4,000
2,000

800
1,200

60,000
30,000
12,000
18,000

64,000

ZOHOtAIE &EoHd

= N H

33,000

16,500
6,600
9,900

33,000

402 QI2tXt=01 &

33,000

33,000

_26_




SA: AEIEX D
B ABI=X ST (A=A 2L )
ool BSMHIA B gy

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 16,500
< 6,600
Al 9,900
02 U EALEZ(0IETHR) 33,000 0 33,000
OZFOfotoigl ol &2 A (Zdldl)
3,000,000& 3,000
= 1,500
< 600
Al 900
OZOfotoiglold EZMA (IHE=Hl)
30,000, 000& 30,000
= 15,000
< 6,000
Al 9,000
Helold 2z K& 25,160 24,813 347
< 12,580
Al 12,580
301 et a = 25,160 24,813 347
< 12,580
Al 12,580
01 M3IBZ X053 25,160 24,813 347
ooeold tdEgzE N& 25,160,000 25,160
= 12,580
Al 12,580
ESANE &= 473,400 240,000 233,400
201 Let24d] 18,000 0 18,000
01 At 22l 8,000 0 8,000
oxtz2d 24 8,000,000& 8,000
02 =224l 10,000 0 10,000
oz-Hu2d 24 10,000, 000& 10,000
401 AIEHI L 2CHYI 180,000 100,000 80,000
01 A& HI 180,000 100,000 80,000
SEOUOHE0E JIsEZAY 50,000,000& 50,000
oxtz2ddE clZdd 130,000, 000& 130,000
402 RIZEXHE0I A 175,400 140,000 35,400
01 U2 E2ALE X (KA R) 175,400 140,000 35,400
ONgold JIsEZAL 167,000, 000& 167,000
OHOHOtEE Ol oy & Hl X2
8,400,000 8,400
405 XtatHE SHI 100,000 0 100,000
01 AL EFH S 100,000 0 100,000
oxtz=2d 24 100,000, 000& 100,000
oeod 2¢ & 866,500 623,500 243,000

_27_




2N
DABIEX ST (A ER/AE XY e)
SEA

el

X ZH
S =

Akl = X1 ot

ESAMHA 2 g4

- _ _ RE]

SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
201 Bt 6,000 6,000 0
01 AP 22| H| 6,000 6,000 0

OYbt42d| 6,000,000& 6,000
301 et A= 6,500 6,500 0
09 HAIAHI BEAZ 6,500 6,500 0
OOUel ol Hetgl sHAb A Al 24
1,500,000 1,500
ORI NFLS L A3 FAT MUY
5,000,000& 5,000
307 giztol A 854,000 611,000 243,000
10 MM SAANEEHESIHEX 120,000 117,000 3,000
oOZJIIoIE B0 Helold =3 XN
9,000,000& 9,000
OHe ol e9dl X& 10,000,000& 10,000
OFEXNA Helold wetdl XI¥ 5,000,000 5,000
OEAMXY HElold 29 &
96,000,000 96,000
11T A EXAIEEX 734,000 494,000 240,000
ENAA StHESIHH K& 50,000,000 50,000
OUeold ofs2taldl X 420,000,000 420,000
OZANS(S) BRIA SE224Y T
264,000,000& 264,000
ORI IAH 21248 X & 12,000 7,500 4,500
= 6,000
Al 6,000
307 2Iz2to| & 12,000 7,500 4,500
== 6,000
Al 6,000
11T A EXAIEEX 12,000 7,500 4,500
O M A @1 24| 12,000,000 12,000
= 6,000
Al 6,000
2280 20|d 24| 1,284,000 1,250,000 34,000
= 642,000
= 256,800
Al 385,200
307 QI2t0| & 1,284,000 1,250,000 34,000
= 642,000
= 256,800
Al 385,200
10 MM SAANEEHESIGHEX 1,284,000 1,250,000 34,000
O22E e 0l 29| 1,284,000,000& 1,284,000
= 642,000
== 256,800
Al 385,200
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2N
DAEIEX ST (MEEX/AE 2R Y
A

el

X ZH
S =

Akl = X1 ot

-

)

ESAMHA 2 g4

= - — SHE|
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= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o&FAYE SEXHMAH(CYSNet) 2& K&
87,670,000 87,670
J| 43,835
Al 43,835
FAHISRE2IAA 20,000 20,000 0
307 gl2tol & 20,000 20,000 0
11 ALS S RAEE = 20,000 20,000 0
OFAEZSEY 2E XA 10,000,000& 204 & 20,000
FAaEEAIE 2EXE 4,000 4,000 0
307 glz2+ol & 4,000 4,000 0
05 RIZIRI & 3 4,000 4,000 0
oFAYd 23 d T2y 29
4,000,000& 4,000
AW sEEH 220 2H 73,780 73,780 0
J| 36,890
= 18,445
Al 18,445
307 glz2tol & 73,780 73,780 0
J| 36,890
< 18,445
Al 18,445
05 RIZHRI & 3 73,780 73,780 0
OdA4E IUAN Z203% 29 73,780,000 73,780
J| 36,890
< 18,445
Al 18,445
st & HAdE XA 71,000 69,000 2,000
J| 49,700
Al 21,300
307 21201 A 71,000 69,000 2,000
J| 49,700
Al 21,300
05 RIZt2IE = 71,000 69,000 2,000
Ostw & 4@ X& 71,000,000& 71,000
J| 49,700
Al 21,300
dad SEXE 3,870 3,870 0
J| 2,730
Al 1,140
301 LAz 3,870 3,870 0
J| 2,730
Al 1,140
01 MI28HE 6= 3,870 3,870 0
OFAYE EEIFAY 3,870,000& 3,870
J| 2,730
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AN ALEI =X
H: A EX ST(ASEX/AE S X L B

-

)

SE R PNEREFE Y (S5 &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| Al 1,140
AW Ad2st4H 29 161,720 159, 191 2,529
J| 71,270
< 90,450
307 gl2tol & 161,720 159, 191 2,529
J| 71,270
< 90,450
05 RIZIRI & 3 161,720 159, 191 2,529
OZ3agr FAd d23dH 29
161,720,000& 161,720
J| 71,270
< 90,450
28X R2U= 2,000 2,000 0
307 21201 A 2,000 2,000 0
11T AL S XA E = 2,000 2,000 0
OFAEUXNE 22us 29 XI& 2,000,000& 2,000
da4@ =02l A& 18,750 18,750 0
J| 7,500
< 5,625
Al 5,625
307 glz2tol & 18,750 18,750 0
J| 7,500
< 5,625
Al 5,625
11T M SRAS EX 18,750 18,750 0
O&#A4E SOt XA 18,750, 000& 18,750
J| 7,500
= 5,625
Al 5,625
FAL2EHSEOE XA 28,000 28,000 0
J| 11,200
< 8,400
Al 8,400
307 21201 A 28,000 28,000 0
J| 11,200
< 8,400
Al 8,400
11T M3 SXAISEEX 28,000 28,000 0
OHEAGENESE0E X AY 28,000,000& 28,000
J| 11,200
< 8,400
Al 8,400
SHUAMe &4 AHANE AMZAEH2A 34,000 34,000 0
= 17,000
< 17,000
307 glz2tol & 34,000 34,000 0
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2N
X ZH -
L= B

el

Akl = X1 ot
ABIZEX SE(ASIZX/AE S XY
a4 A=

=]

ui)

-

)

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
= 77.000
< 17,000
05 RIZHRI &3 34,000 34,000 0
OB WOIAS & AADNS 2L &
34,000, 000& 34,000
=2 17,000
< 17,000
NEdALAE 0P 22 2,800 2,800 0
| 1,400
Al 1,400
307 glz2+ol & 2,800 2,800 0
| 1,400
Al 1,400
05 RIZHRI & 3 2,800 2,800 0
O&FA~Y FHARS 29 2,800,000 2,800
J| 1,400
Al 1,400
Fag@gusotatdlol 24 150,238 150,228 10
| 75,119
< 22,535
Al 52,584
307 21201 A 150,238 150,228 10
| 75,119
< 22,535
Al 52,584
05 RIZt2IEt = 150,238 150,228 10
OFEAGEE NS00 29 150,238, 000& 150,238
| 75,119
< 22,535
Al 52,584
N2EA2 23 30,293 46,411 A 16,118
101 @14 dl 21,293 37,411 216,118
04 JIZHHZ2XRHEE S 21,293 37,411 A 16,118
OFLAERSHEH 2T A2 &2 21,293
SRUE g 51,7603 x 18 %233 12,061
ocsd22aY 51,7603 « 12 «150%*48=F 3,727
oFXtrg 51,7603 x 1 482 2,485
oIt 51,7603 x 1«11 570
o30AZ S 18,843,000& *13% 2,450
201 Yet2 | 4,000 4,000 0
01 At 22l 2,000 2,000 0
OX2ZN2 2E=35 72 500,000 42 J| 2,000
02 8322l 2,000 2,000 0
03323 2,000,000& 2,000
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2N
DAEIEX ST (MEEX/AE 2R Y

el

X ZH
S =

Akl = X1 ot

Hod AHSH

-

)

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
405 XHoHF S HI 5,000 5,000 0
02 =M=l 5,000 5,000 0
O M7 5,000,000& 5,000
SnEZ |gEZz0d 24 49,600 49,600 0
J| 24,800
Al 24,800
307 glz2+ol & 49,600 49,600 0
J| 24,800
Al 24,800
05 RIZt2IE = 49,600 49,600 0
ostu=d AAE NAWH 29
49,600,000 49,600
J| 24,800
Al 24,800
StuES gZ208 2 (XHA) 25,000 26,000 21,000
307 izl & 25,000 26,000 A1,000
11T MIZSXASEX 25,000 26,000 A1,000
O DE (225 X4 D2ME 29
10,000, 000& 10,000
OSDE (s L HHHLE GETE]
H 2 15,000,000& 15,000
ZALAIE 2tel 963,456 1,060, 191 A 96,735
ZAAIE 29 2l 963,456 440,191 523,265
101 14 dl 77,306 175,351 A98,045
04 JIZHHZ2XRHEE S 77,306 175,351 A 98,045
ostEz 22(1Y) 45,430
=Jl2g 1,503,990& »12& 18,048
o Z AU GAH| 100,000& = 12& 1,200
ol sE X 30,000& 12 360
oM ATHSH 100,000& = 12& 1,200
oAg ¢ 20,000& 128 240
oIt 86,1603 15 1,293
cA222+E 10,7703 50 Al 2H+12& 6,462
S =] 10,770& 416 Al 2t 4,481
o H A FOHI 500, 000& *23] 1,000
oJ|gxd 1,753,990& 43| 7,016
o4l B2 41,300,000 x10% 4,130
OZLAIAIS 12 31,876
o ZALAIE L &3 EHI
51,7603 x10H 7 43| 14,493
oHAMAEU M=E=(MF)ES
99,8833 x5 H x7 x23| 6,992
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PN CIE- PN

BN S-IEE=DN %&(Mil%xl/}\rilgll%t&)
D EAAIE 22 )
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
oS HEBX M=(0H)=Y
99,882& x5F 10! 4,995
ocZESEA M=(0H)&Y
99,882& x5% x5 2,498
o4l EEE 28,978,000 x10% 2,898
201 YEr2 Y| 272,050 245,140 26,910
01 At 22l 67,600 47,140 20,460
OgBt=+=E&H| 63,600
cASHAEE(8Y) AAFH 9|
6,000,000& 6,000
o&EZ BEINA 5F E9UI
16,000, 000& 16,000
oAalt SAJ|,RAH wXN&HE ==+
8,000,000 8,000
oXMI|ILHl MR =2 5,000,000& 5,000
ost&Z &I HII=SHMel ESd|
4,000,000& 4,000
oA FX, MEM % ZEH +
9,000, 000& 9,000
cARZEE =23 FE S 9,000,000& 9,000
cIJIEZN U+ 3,600,000& 3,600
oc¥)| HEZ 3,000,000& 3,000
o1l =l 2,000,000& 2,000
O= &l 2,000,000& 2,000
02232 204,450 198,000 6,450
0=323 ¥ HA 100,450
o HMI| 100,000, 000& 100,000
o&J| Al 282 2 €3/l 450,000 450
Ost&EZ AH2H|(LPG) 84,000,000& 84,000
OAN&ZEH RAH L IteFHety]
20,000,000& 20,000
206 M= Hl 18,100 14,700 3,400
01 = Hl 18,100 14,700 3,400
OM=ZHl 18,100
oStd¥E & AN 7 5,000,000& 5,000
oA Z L0t 2 2,000,000& 2,000
ogtEZ Fela P 400,000& 400
ost@AZ A P 3,000,000& 3,000
oVHE 2 900,000& 900
cHIYA 2R2E 2¢ 3,000,000& 3,000
o= JIAH &I, A8 JtA 2L
3,000,000& 3,000
oHM=HM & Hz2 800,000& 800
401 Al& I 28I 450,000 0 450,000
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2N
X ZH -
L= B

el

At = Xl

Ab3l = X1
TAAIE 2

tc|

t
SE (MBI EX/AME =X L8
S

-

)

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 A& HI 450,000 0 450,000
O Al &£ HI 450,000
ofeld AT =2 FHIESA 380,000,000 380,000
ost&AZ M 70,000,000& 70,000
405 TtHobF S| 141,000 5,000 136,000
01 AL ESFHSHI 141,000 5,000 136,000
OXtet & =2 S FH SHI 141,000
osotE FIAIE ¢ 135,000, 000& 135,000
CcEAIYINASEAI]) F
6,000,000& 6,000
802 BHEt = JIEf 5,000 0 5,000
03 Ug=s 5,000 0 5,000
onda 5,000
oSoE AEBZE BHE = 5,000,000& 5,000
WHEHHXZ 355,718 332,025 23,693
JISdES 355,718 332,025 23,693
702 0I3HES 355,718 332,025 23,693
0MII2d8E3 355,718 332,025 23,693
OL=XIIza dES 355,718,000& 355,718
2L LU (AL S X 2H) (J1EH/DIE) 237,038 226,183 10,855
= 122,142
< 1,814
Al 113,082
ol 2 gl 147,078 136,223 10,855
= 122,142
S 1,814
Al 23,122
NS SHAEE SgAtdl el X3 (A8 22H]) 115,710 106,950 8,760
= 108,030
Al 7,680
101 14 Hl 115,710 106,950 8,760
= 108,030
Al 7,680
03 RIAHAZ 2T E =+ 115,710 106,950 8,760
OOts=sXAZus SEMEIA N (EHAE
EXE) 115,710
cJIE2=s 66,600,000& 66,600
= 66,600
= (¢l 5,400,000 5,400
= 5,400
o A2t =& 7,170,000& 7,170
= 7,170
c4HEE R 21,960,000 21,960

_48_




S AE= XD
e #HSAAH(MSZXD)(OIEH/IIE)
oo olze

02 0

ol ull (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 21,960
ocE| AN Z 6,900,000& 6,900
2 6,900
o M FAH| 3,600,000& 3,600
SRRy 1,080,000 1,080
o HW&AEF Y| 3,000,000& 3,000
LOoISES)E2AMUAAMNY XN (E2HY|) 31,368 29,273 2,095
= 14,112
= 1,814
Al 15,442
101 e1214| 31,368 29,273 2,095
= 14,112
= 1,814
Al 15,442
03 RIHEZZXHE = 31,368 29,273 2,095
OPIE=F=; 18,480,000 18,480
= 12,936
< 1,663
Al 3,881
OFHZAH| 1,200,000 1,200
OunsE Xl 360,000& 360
OY&E st 1,000,000 1,000
OoJ|Lse< 6,120,000& 6,120
(@FSPUES=] 813,000& 813
o428 = 1,714,560 1,715
EANNY2 1,680,000 1,680
= 1,176
=} 151
Al 353
| 2d 4| 89,960 89,960 0
Jl2 &4l 89,960 89,960 0
201 LBt | 8,000 8,000 0
01 AP 22| d| 6,000 6,000 0
OYbt4=24| 6,000,000& 6,000
02 32%H| 2,000 2,000 0
02322 ¥ HA 2,000,000& 2,000
202 o4 | 77,760 77,760 0
01 2L HI 77,760 77,760 0
O2U=2 0l 240,000 x27H x12& 77,760
203 €2 F=&d| 4,200 4,200 0
04 ENSIE LR F=XH| 4,200 4,200 0
OFRMNSIGYE RN 350,000 x12& 4,200
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